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—MNE 29 AR 7 1,000, 000& 1,000
—HMSISETA EEE2E M 1,000, 000& 1,000
—Msts Het 2 AR MIE 9,000
HMsSIE Y 2AIE HE 3,000,000 3,000
sy S0 6,000,0002 6,000
—BMDR 429 2
200,000& x4 3| 800
O=3&H| 1,930, 000& 1,930
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—BMDSHEIE BALD
70,000 *7H *23] 980
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30,000,000& 30,000
— 2% BMEE S0t XA 15,000, 000& 15,000
— 2z snusotel 4 I 45,000,000& 45,000
308 XX S M SO0l & 30,000 0 30,000
10 ST 2SO THsHE A X AN HI 30,000 0 30,000
Ose gMuEa T8 XA 30,000
— Mg sdEgs T2 20,000,000& 20,000
—XNEE4Ms 221 10,000,000& 10,000
401 Al HI L 2 0HHI 10,000 0 10,000
01 A& HI 10,000 0 10,000
OEMas2 &X 10,000, 000& 10,000
JMstss 10,000 15,000 A5,000
201 et A | 10,000 10,000 0
03 SHAIS H I 10,000 10,000 0
OgMsts =H izl 10,000,000& 10,000
SHOIZ2o 43 149,760 84,160 65,600
201 LEt2HY| 42,000 18,000 24,000
01 AFR2t2l bl 12,000 8,000 4,000
O4o2dina 249 12,000
— WM ¥ w3H FLH 12,000,000& 12,000
03 A2 H H| 30,000 10,000 20,000
OdolZaol 243t HADINE 30,000
— HoI2all HAMME(ANFE S)
20,000,000& 20,000
— 20 RAL &4 Y BN 10,000, 000& 10,000
202 04 b] 2,160 2,160 0
01 2LHOHI 2,160 2,160 0
OHdol20 843 g9F F&A 2,160,000 2,160
301 dBEtE A= 105,600 64,000 41,600
09 HAIAHI EA = 105,600 64,000 41,600
OHdolE2diuna 22 A=Y
40,0003 *308H+83] x11JH & 105,600
St2iE 29 71,230 92,630 AN 21,400
201 LEt2 9| 18,430 22,430 A4,000
01 AFR2t2l Yl 16,430 16,430 0




EX: S3Hs
HE: QS H L BUDSE N
CHe: WMSIET A X4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Ogbt424| 6,800
— Wb 10,000 x4008 4,000
— 2 A 700,000 x40 21 2,800
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—St2US 2H/A}S =
70,000 *9H *13] 630
Qsl&ss Iy 212 9,000,000& 9,000
02 2=2=2494| 2,000 6,000 A4 ,000
OZ22222HA 2,000,000& 2,000
301 YprE A 52,800 70,200 A 17,400
09 HAIAHI EAZ 52,800 70,200 A 17,400
Ostz s ZAIEE
60,000 x118+x838| 104 & 52,800
HE2stS5HH 29 35,000 0 35,000
201 et 20,000 0 20,000
03 Al HH| 20,000 0 20,000
Od=sstgHdyH T 29 20,000,000 20,000
308 XAXIEHSOIA 15,000 0 15,000
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1,000, 0008 1,000
03 A2 H| 23,000 0 23,000
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70,000,000 *0.90/100

U AT

MW

W

277,930
277,930

10,000

7,000
1,050
1,950

198,560

140,000
21,000
37,560

69,370

49,000
7,350
13,020

2,070
2,070

1,440
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49,676
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228,254

1,746

Mo H

2,090,000
1,463,000
219,450
407,550

1,430,000

660,000
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600,000, 000&
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1,200,000, 000&
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=
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0
M

il

0

1Hl €A EH
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Mo H
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2,090,000
2,090,000
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420,000
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126,000
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50,000
35,000

1,430,000

660,000
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11,700
120,000
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12,600
23,400

M

885,000

438,500
446,500

742,000

143,000

207 & 51 OH £ Hl

M

90,000

41,000
49,000

39,000

51,000

=

R
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>
e

2
e
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0
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I
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EJ
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FAHE 70,000,000&

S
S 0x
>
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o
D

M

M

90,000
90,000

70,000

35,000
35,000

20,000

6,000
14,000

39,000

51,000

401 AIEBIZ S CHYI

M H

495,000

247,500
247,500

533,000

A 38,000

01 A€ HI
OEHIEXAY

— l_l-Dd}_/\l AOHjI.II

o
04
=
=
R

84,235,000

E=HHIAY

198,560, 000&

[ AHS 69,370,000&

g FHIHIAMLY

59,460,000&

M

RUNY AN

2l

490,851
490,851

84,235

42,500
41,735

198,560

100,000
98,560

69,370

35,000
34,370

59,460
30,000

528,899

A 38,048




fAM: 2=
BH: R RESHN 2E L M
el 23 22l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 29,460
— 28 SEM =HIHAY 29,676,000& 29,676
< 15,000
= 14,676
— g FHIH ALY 49,550,000& 49,550
< 25,000
s 24,550
03 Al 2 THHI 4,149 4,101 48
OZHIEx= AL 4,149
— &8 ANY E=ZH ALY
85,000, 000& *0.90/100 765
— g XA MK E=FHIAY
200,000,000& *0.72/100 1,440
—ZHEW B=FTHAY
70,000, 000% «0.90/100 630
—YolN SRR FHTUAY
60,000, 000% «0.90/100 540
— &8 SN =HEH ALY
30,000,000% *1.08/100 324
—BHSD FHIUAY
50,000, 000& *0.90/100 450
402 RIZ2FXt20l ™ 300,000 170,000 130,000
< 150,000
[ 150,000
01 A=A EX 300,000 170,000 130,000
OEHIEXAY 300,000
—Ed HUA S SEXNTFELIE =
HHIALS 300,000,000 300,000
< 150,000
s 150,000
2o 2sEs & &2 91,272 82,672 8,600
201 Let249] 24,360 15,760 8,600
01 AR 22| 9,760 8,760 1,000
Ogura gl 6,960
— 2 WEA THPY 30,0002 * 102 300
FoHEEZE =9 55,000& * 124 660
— M HHEXE SIS
300,000& =104 3,000
— 2 MARE XN AL =G
100,000& 3 103l 3,000
O=gtl 2,800,000& 2,800
02 =224l 14,600 7,000 7,600
O=323<LHA 9,600
— SN 2 A HIRS
60,0003 12«54 & 3,600
—SQEM M| tEEFZ 250,000 x43 1,000
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S5 S D
R.PHSIHM 2E L S
S5 22l (crl ®a)

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— HAHZ2SA S A €235 3]
1,500,000& 13| 1,500
— HIASA SAII? OF-EHXISE 53 Oyl
3,500,000& 13| 3,500
OAI& &Yl KXYl 5,000
— St&A J|HEH S X228l
1,250,000 x4 A! 5,000
202 04| 6,912 6,912 0
01 2LHHI 6,912 6,912 0
O23M ExAIY XK= 2,560,000& 2,560
OHESAN SSHE S XA 2,560,000& 2,560
O2M B & 2A2IPR =& 1,792,000& 1,792
401 Al HIL 200 60,000 60,000 0
1 A& I 59,460 59,460 0
O23M 2= 49,460,000 49,460
OXNE2SM SZHAY 10,000,000& 10,000
03 Al& 201 1] 540 540 0
O23M 2=+ 50,000,000& *1.08/100 540
esmsgL X 45,918 5,514 40,404
101 @121l 30,418 5,014 25,404
04 JI2ZtHZ2E2XNEE S 30,418 5,014 25,404
OdsTaIx] 24202 25,000,000 25,000
OS2 MELE 22 XNIAY o2 5,418
—-J|I=23 48,2403 »2H x50 4,824
— 528 Z 4,824,000& *x12.3% 594
206 T2 HI 500 500 0
01 M= bl 500 500 0
ORI} MEL 22 XNIFAY HERA (2T S
) 10,000 #5004 500
401 Al HI L 2 THHI 15,000 0 15,000
01 A& bl 15,000 0 15,000
OHEsTA=2 FAHCAMS 15,000, 000& 15,000
HNEESF B 2 52 6,000 16,000 A 10,000
= 4,200
= 1,800
307 212t01 & 6,000 16,000 A 10,000
= 4,200
= 1,800
04 QIZHSHAFAIRE 2 X 6,000 16,000 A 10,000
O=2HEXAY 6,000
—g&stedel =02 sHEAF X3
1,000,000& 1,000




AN 23HSD
M KR LYW BEE L HS
& 23 2el

S HB B (SH) - NRAMY - BAS il
= 700
= 300
—OHoIAI &= S M A K&
5,000,000 5,000
= 3,500
= 1,500
HNEAMNE EEFH| 396,000
= 73,000
= 36,500
= 286,500
402 SI2F X201 M 396,000
= 73,000
= 36,500
= 286,500
01 A2t SAIE E =X 396,000
O=2HIEXAY 146,000
— & ASAI LIHAIAE 2FAY
146,000, 000& 146,000
= 73,000
o= 36,500
= 36,500
O HAS A E4=HHIAL 250,000, 000& 250,000
SRESE2SM 2Ale =8l X 472,680
= 236,340
= 70,902
= 165,438
101 2124 4| 470,680
= 235,340
= 70,602
= 164,738
04 JIZtHI2E2EXNSE 470,680
O=2HEXAY 470,680
—OHOIAN HZEHAE Y SHS o™ BH oA
B XI 470,680,000 470,680
= 235,340
& 70,602
iy 164,738
301 et A= 2,000
= 1,000
== 300
= 700
09 HAIAH EA= 2,000
O=2HEXZ AL 2,000
— 23 ot™BHIE Ny HFAH S
2,000,000& 2,000
= 1,000
= 300
= 700




fAM: 2=
By 9 QESH BE U S
el 23 22l (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Zot HHZHAIAE RS AL 65,000 175,000 A 110,000
= 45,500
< 9,750
s 9,750
307 gl2tol & 65,000 60,000 5,000
= 45,500
< 9,750
s 9,750
02 (It HAMHEE 65,000 60,000 5,000
O3BIEXZ ALY 65,000
—OofolAH A EA Hotae BAXE
15,000, 000& 15,000
= 10,500
< 2,250
[ia 2,250
—ofelA SME Eetze EAXNA
10,000, 000& 10,000
= 7,000
< 1,500
s 1,500
— & oA gatzte EG9XA
15,000, 000& 15,000
= 10,500
< 2,250
= 2,250
— & R4a SN0 Yetae 89X
5,000,000& 5,000
= 3,500
< 750
i 750
—OHOlAH HZEE HMAIE S22
5,000,000& 5,000
= 3,500
= 750
i 750
—OHQIAH EXMEY ETHAIZ |X 22
5,000,000& 5,000
= 3,500
= 750
i 750
—OHOlAL HTHAIE S Xl2el 5,000,000& 5,000
= 3,500
= 750
= 750
— & Q& S0 YMHAIE g2
5,000,000& 5,000
= 3,500
= 750
= 750
MA s & B&E22] 682,857 0 682,857




FEHEM BEE E ES
S 2el (&)
= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
= 470,000
< 73,500
= 139,357
307 i+l & 40,000 0 40,000
= 20,000
< 6,000
s 14,000
02 IZtE M AMHEE 40,000 0 40,000
OZHIEx= At 40,000
—SEMHUA EEXMT HMEA X EEIY £
a2t 40,000,000& 40,000
= 20,000
< 6,000
[ia 14,000
402 RI2HXt20l ™ 642,857 0 642,857
= 450,000
= 67,500
s 125,357
01 22t t=2 AP E XL 642,857 0 642,857
O=HIEXZ ALY 642,857
— & oA HEIH S5 110 EEX L
b 285,714,000 285,714
= 200,000
< 30,000
e 55,714
— & GHAUA HEIE BE & JE&F 22
ANAE =AY 285,714,000& 285,714
= 200,000
< 30,000
i 55,714
— & HYUAN HEZE 2&E2e T2
TEAE 71,429,000 71,429
= 50,000
< 7,500
e 13,929
dE & MENSE 84 3,014,621 3,141,493 N 126,872
J| 114,823
< 33,681
e 2,866,117
s 4 800,825 796,069 4,756
J| 114,823
< 13,681
s 672,321
HEHS 2N 260,892 252,392 8,500
201 ¢er24| 13,540 11,540 2,000
01 At 22l 13,540 11,540 2,000
O e8| 9,200
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fAM: 2=
M @2 U MBS S4
chelr MEHS 34 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 97,632
s 116,832
307 glz2tol & 214,464 213,504 960
J| 97,632
s 116,832
02 It M AHE X 214,464 213,504 960
OJIS At 195,264
— UBH(EYH) MEMSA SR IIAILY S
(69) 146,448,000& 146,448
J| 73,224
i 73,224
— 024 MEBHSXZX HHIAY S0 (2Y)
48,816,000 48,816
J| 24,408
s 24,408
OLeH(HMLH) MEMEXN SR ALY S X+
&(6Y) 14,400,000& 14,400
ONZ4 MEMSAEX HXIAIYE SX=(2
) 4,800,000& 4,800
HSHRH ALY 24,557 29,261 A4, 704
J| 17,191
< 2,208
s 5,158
301 et A=z 24,557 29,261 A4, 704
J| 17,191
< 2,208
[ia 5,158
01 A EE E 2563 24,557 29,261 AN4,704
OJI3 A 24,557
— AZXHIRH A 24,557,000 24,557
J| 17,191
= 2,208
= 5,158
SEHZ0tEMS XA 251,000 251,000 0
203 YR =&l 1,000 1,000 0
03 A FXH S =AY 1,000 1,000 0
OgdLZ0tct=Ue F&A 1,000,000 1,000
307 21201 A 250,000 250,000 0
04 DIZFHALALSE E X 250,000 250,000 0
OHMI153 LZ0tetEHE X 250,000,000 250,000
HdEMNSTE 2,023,796 2,205,424 A 181,628
= 20,000
s 2,003,796
d=+42 M=z |SXXE 1,241,668 1,443,296 A 201,628
101 14 Hl 9,648 2,776 6,872




EX: S3Hs
My M2 U MBS S4
oelr HEHSHE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 JI2ZtHIZ2 2 NEES 9,648 2,776 6,872
OMSE#A =H o2 48,2403 %202 x 10 9,648
201 et 29,500 18,000 11,500
01 AP 2t 2] H| 11,500 0 11,500
Ogttf2Y| 1,500
—E9EHME 600 x2, 5008 1,500
OYxz 10,000
— AN Al EHl Xt 5,000,000& %24l 10,000
03 Al HH| 18,000 18,000 0
O&F= T2 NMdEA 2Z 18,000,000& 18,000
202 044l 2,520 2,520 0]
01 2LH o1 bl 2,520 2,520 0
02,289 MSUIRI YLEX
2,520,000& 2,520
307 QI2t0| & 1,200,000 1,420,000 A 220,000
04 CIZ2tSHALALS B X 1,200,000 1,420,000 A 220,000
02016 (&I M=20HXA=SF2UE XA
320,000,000& 320,000
02016 =H s=210NSsnW s=2HUYN I
360,000,000& 360,000
O&= =42 MEdEA XN 270,000,000& 270,000
O&F=2,=42 M=ls X 150,000,000 150,000
OsSAHAEXNEHA KX 100,000,000 100,000
MEA2SEINE XS 253,000 253,000 0
= 20,000
= 233,000
301 et A= 253,000 253,000 0
o= 20,000
= 233,000
Vo= - 2sESE2M2 253,000 253,000 0
OEHEXZAY 253,000
—Z2E SAR 23 (6YH) 253,000,000& 253,000
= 20,000
= 233,000
=3 29X& 449,128 429,128 20,000
202 044 2,728 2,728 0
01 2L Y| 2,728 2,728 0
ONMEE =& 25 HISA 2FX
2,728,000 2,728
307 QI2t0| & 446,400 426,400 20,000
02 QI2tAAMAIE E =X 388,000 368,000 20,000
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EX: S3Hs
My M2 U MBS S4
oelr HEHSHE CER-ED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZ2MESHE X (200HE=2 400)
270,000,000& 270,000
Odad 28 dsUs XI&  15,000,000& 15,000
OZ2H=0HE AKX 30,000,000 30,000
OSHH MsHA X 33,000,000 33,000
O838 M=EdgA XIS 40,000,000 40,000
03 QIZIH X PHAESIHIEX 58,400 58,400 0
ONM=s3s 292X 58,400,000 58,400
sStNH=E20 s 80,000 80,000 0
307 2izto| & 80,000 80,000 0
02 QIZ2FAAAIE E X 80,000 80,000 0
O8Nis sE4XN% 30,000,000 30,000
Osads218 2N 50,000,000 50,000
HNESAEESS 190,000 140,000 50,000
MEHFAIE &5 190,000 140,000 50,000
401 A& HI L 204 HI 190,000 140,000 50,000
Al & H| 188,236 138,740 49,496
OSZHMSAIE ZHZBA 99,100,000 99,100
OHNOIEEE AXPE HAXZ2AF 59,460,000 59,460
OHOIEESE HIJIEAAE AXZ2A
29,676,000 29,676
03 Al&E 201 Y| 1,764 1,260 504
OSBZHMSAIE ZHdZBA
100,000,000 *0.90/100 900
OHNOIESH XRZE A Z2A
60,000,000 *0.90/100 540
OHOIEEH HIJIIHAIE EXZ2A
30,000,000 «1.08/100 324
St 29 343,241 279,233 64,008
gt S 22 343,241 279,233 64,008
grEEzE 2 29 228,241 209,233 19,008
101 2121 | 12,060 11,160 900
04 JI2ZtHIZ22NEE S 12,060 11,160 900
QeS8 st F™H 82 (EHI, &x=A
H ) 48 ,240) x5H x50 12,060
201 LBt Y| 169,014 161,906 7,108
01 AP 22| d| 65,300 52,150 13,150
Ogbt4=24| 5,100
— eSS a 2SS AL AFRIQISH
2,000 «1,0000H 2,000
— SIS DA L9 HEH
55,000& «200H 1,100
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10,000
10,000

A5,000

A5,000
Ab5,216

H3r
Wikd
RIS

6,480
6,480

13,687
13,687

16,000
16,000

70,000

70,000
69,676

Off &t 24

10,000
5,000
6,000
5,000
6,480
6,480
2,280

1,920
2,280

14,687
14,687
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500
500
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1,000
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fAM: 2=
HE: w2p 29
ol sEseR 22 CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
03 AIE 2 0HHI 540 324 216
O=2dNEZ T ALY
60,000,000& *0.90/100 540
SEEen SEIEA S 50,000 0 50,000
201 LB-2dH| 50,000 0 50,000
03 A2 Z Hl 50,000 0 50,000
OHN4sl E4I1&8A M= 50,000
—Sg8J|2d E=ENH 20,000,000& 20,000
— S S AL M 4,000,000& 4,000
—dAI2E SSHHE 18,000, 000& 18,000
—R=25l 8,000,000& 8,000
HE2LAZH (2SS ) 27,400 27,400 0
Jl=234l 27,400 27,400 0
Jl23Hl 27,400 27,400 0
201 Let24d] 11,200 11,200 0
01 At 22l 11,200 11,200 0
Ogt+gH| 11,200, 000& 11,200
202 O4dl 12,000 12,000 0
01 = LH 4 1l 12,000 12,000 0
SNRY(ANE, HOIL, 9328 &4 5)
12,000, 000& 12,000
203 PR =&l 4,200 4,200 0
04 EAN2IHRFEHI 4,200 4,200 0
ORN2IYR A 4,200,000& 4,200
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